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MAT 137 HW #6
04/03/09 {due Friday 04/10/09}
10 points

Show work or oblerwise justify your answers. Un

upported answers (e, calonlator antput) will not receive hisl) credit. Yoo oy check voor answers

with a calculator or computar.

1. Determine which series converge. Use convergence tests 0 prove your answers,
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2. Determine which series converge conditionally and which converge absolutely. Use convergence
teste to prove vour answers.
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3. For what valnes of z does the series Z convers S}z\?‘\ ] B M%v %
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